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Po=[%0.Yo]
ControlPoints: ~t= Davil
Po= [x,Y2]
Ps= [Xs ¥

oobobooooooon

Bo() = (1-1)°
Bi(t) = 3(1-1t)%t
By(t) = 3(1-1t)t?
Bs(t) = t3

BernsteinCubics :

gooooobogo

Besier(t) = Bo(t)Pg + B1(t)P1 + Ba(t)P2 + Bs(t)P3

Besier () = (1 - t)°[xo, Yol + 3(1 — t)*t[Xa, y1] + 3(1 — [ Xz, Y2l + t°[Xa, Ya]

Besier (t) = [X(t), y(t)]

X(t) = Xat® + 3xt? — 3xt> + 3xgt — 6x1t? + 3x:t3 + 3xg — 3xot + 3xt? — ot

X(t) = Xo + (=3X1 + 3%)t + (3%0 — 6X1 + 3x)t2 + (=Xg + 3X1 — 3% + X3)t2

gooooooooocooo

Co 1 0 0 O\x Xo
. . Jc _ -3 3 0 Ollxg _ —3X%p + 3X1.
BesierMatrixForm: ol = AX = 3 -6 3 0||x| | 3x-6x +3%
C3 -1 3 -3 1)\xs —Xo+ 33X — 33X + X4

X(t) = Cg + Cit + Cot? + cat®

y(t) = yst® + 3ypt? — 3yot3 + Byt — Byst? + 3yit3 + 3yo — 3yot + 3yot? — yot®



y() = Yo + (=3yo + 3y1)t + (3yo — By + 3y2)t? + (=Yo + 3y1 — 3y2 + y3)t3

do 1 0 0 O Yo Yo
. . df o [-3 3 0 Of{wi|_ -3yo + 3y1
BesierMatrixForm: d =AY = 3 =6 3 of|ly|"| 3yo-6y:+3y
d3 -1 3 -3 1 Y3 —yo+3y1—3y2+y3

y(t) =do+dit+ dztz + d3t3

ooobooooooon

Besier(t) = [X(t), y(t)] = [Co + Cit + Cot? + Cat®, dp + dit + dot? + dist®]
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1. Example 1 Po, P, Py, P3

Lo
Xy
01
12
2 2
31

2. Besier Matrix

mat_besier
1 6 06
3 3
3.6 30
21 331
3.0000xy0o0o0oono

mat_besier +/ . * LO
x(1),y(t)
0 1

3
0 _
0

S w w



X(t) = 3t
y(t) =1+ 3t —3t2
4. xt)y)0ODOOO0
JO p.00000300000000tO0OOO [0U00 stepsO0O000

©0 3&. ,. 13 _3&. )Dsteps 0 1 10

0 1
0.03 1.27
.12 1.48
0.27 1.63
0.48 1.72
0.75 1.75
1.08 1.72
1.47 1.63
1.92 1.48
2.43 1.27

3 1

5. BeserOO QOO
L] PO,Pl,PQ,PSDDDDDD P]_,PgDDD
e IO P,P,O00000O0O0DDOOODOOOO

O0000O00O P,P,00000O0O0OO0OODODOODODODODODO

e Example 2
L1

BN R
N D W =

mat_besier +/ . * L1
1

R @ w

6
-3
_2

x(t) = 3t + 3
y(t) = 1+ 6t — 3t2 - 23
e Example 3



L2
01
31 T
2 4 - i
4 2

mat_besier +/ . * L2 N
0 1
9 0 i i
_12 9
7 _8 ///////

x(t) = 9t — 12t% + 7t3
y(t) = 1+ 9t> - 8t

e Example4

L3
01
4 2
2 4
10

mat_besier +/ . * L3
0 1
12 3
_18 3
7 _7

x(t) = 12t — 18t2 + 73
y(t) =1+ 3t+3t3 -7t

2 DOOoOoooooood

400000000000 100000000000 0O0O00O000OOO0O00OOO0O0OODOOO0OO
0000 20000000000000000000000O0O0O0O070000000000000

DM®=: 1 6,0.75 7.25,3.5 7.5,4 8,4.5 8,5 11.25,:6 11 NB. 7-left upper quarter
DMO®=: DMO,7 11.25,7.5 8,8 8,8.5 7.5,11.25 7.25 ,: 11 6 NB. 7-right upper quarter
DMO=: DMO,11.25 4.75, 8.5 4.5,8 4,7.5 4,7 0.75,:6 1 NB. 7-right down
DM®=: DMO,5 0.75,4.5 4,4 4,3.5 4.5,0.75 4.75,: 1 6 NB. 7-left down

form_besier4 DMO
o ————— o ————— o ————— o o fmm Fmmm———— Fomm +

| 1 6| 4 8] 6 11] 8 8| 11 6] 8 4] 6 1] 4 4|



[0.75 7.25]4.5 8| 7 11.25| 8.5 7.5[11.25 4.75]7.5 4| 5 0.75] 3.5 4.5]
| 3.5 7.5| 5 11.25]7.5 8111.25 7.25|] 8.5 4.5 7 0.75/4.5 410.75 4.75]|
| 4 8] 6 11] 8 8| 11 6l 8 4] 6 1] 4 4| 1 6l

Fomm - Fommmm - Fomm - e it e ittt Fomm - Fommmmm - Fommmm - +

draw_dline® ;"1 calc_besier4 L:0 form_besier4 DMO
) oxoxoxoxoxoxoxoxox
000000 (DMO) OO D ..’ﬁ.w.ﬁ.‘v‘ﬁ.w’“.w’ O

T N eolelolelolalolale

| 00
) oxoxotoxoxoxotoxox
(A IHIAIA
jolejolslolaleolele

X 0
) oxoxotoxotoxoxoxot
0 0 0""000“000&0.”0

pmOoooooobooooooooooMeU OO0 obobbooobDO 4,3,300
gogd

form_besier4=: 3 : @

NB. all 4 points only

NB. from each overlaped P(0,1,2,3)
index=. (i.# y) e. 3*i. # vy

tmpO®=. index <;.1 vy

(3: tmp®) , L:0 }. {. L:0 tmpO®

D)
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1. BensteinO OO (300)000000O00000OODO

3).i i
Jni =(i)t(1—t)3



Jzo(t) =

(1-13
Jaa(t) = 3t(1-t)?

Ja(t) = 3(1-1)

Jaa3(t) =

t3

1-3t+3t2-13
3t - 6t2 + 3t3
3t2 - 3t3

2 000000000000 BU=40000)0JoOOOUDOOO

Co
. . C1
Besier MatrixForm: c
2

C3

= AX =

(B2t 1
1 0 o0 off° X0
X1 —3%g + 3X1
-3 3 0 O =
Xo 3Xp — 6X1 + 3%
3 630 X3 —Xo+ 3% — 3% + X3
-1 3 -31 !

3.0000000J000000000D00000

X(t) = Cg + Cit + Cot? + cat®

4. 0000000

3.2

L1
01
13
2 4
4 2

5t001000000000 steps01 100
.oooboocootoooon

a=. |: mat_besierd4 +/ . * L1
a&p. "1 0 steps 0 1 10

p.000000O0O00OO0DOCOOOO

PO-P300 100000
ooo" e 0x,y00OO

CubicBesierD OO OO

. Bernstein 0 0O O O Script

0
1

w N NN RRRr

b3_0=: (T&3@-.);(3&* * "&2@-.); (*&30@°&2 *
NB. (1-t)73 3t(1-t)"2 3t72(1-1)

| :
3 0
6 _3

.301
.608
.927
.264
.625
.016
.443
.912
.429

mat_besier4 +/ . * L1

N NN

N N W W

1
2

x(t) = 3t+1t3
y(t) = 1+6t—3t2-2t3

1 NB. PO=fix

.568
.064
.476
.792

3

.088
.044
.856
.512

2 NB. P3=fix

-.);"&3 NB. Bernstein formula

t"3



JGrammar 00000000000 4000000000000000000O0O0O0OCOOOO tacit
googd
. BernsteenOOOO t(=steps0110) 000

;"1 ,. b3_0 steps 0 1 10
1 0.729 0.512 0.343 0.216 0.125 0.064 0.027 0.008 0.001 0
® 0.243 0.384 0.441 0.432 0.375 0.288 0.189 0.096 0.027 0
0 0.027 0.096 6.189 0.288 0.375 0.432 0.441 0.384 0.243 0
0 0.001 0.008 0.027 0.064 0.125 0.216 0.343 0.512 0.729 1

00000001000
.000 (B0)0000 Script

b3=: 3 : 0

t0=.;"1 ,. b3_0 steps 0 1 10
+/ t0 * "0 1y

D)

.0000 40000 Po,P1,P,,Ps 00000000000 DDOO0ODODOO0ODOOOODOOOODOD

(b3 EXG),. (|: mat_besierd4 +/ . * EXG)&. "1 O steps 0 1 10
analog (b3) matrix formula
3 2.5 3 2.5 NB. PO
3.4785 2.1335  3.4785 2.1335
4.008 1.908 4.008 1.908
4.5795 1.7845 4.5795 1.7845
5.184 1.724 5.184 1.724
5.8125 1.6875 5.8125 1.6875
6.456 1.636 6.456 1.636
7.1055 1.5305 7.1055 1.53085
7.752 1.332 7.752 1.332
8.3865 1.0015 8.3865 1.0015
9 0.5 9 0.5 NB. P3

. 0ooooogo
b3_long=: 3 : ’;"2,. b3 (L:0) 4 form besier_all y’



33 30000 @O)0boOoooboon

0o0o00ooo0o0obo300000000000000000
BeseinOOOOO 2000000

1-2t+1t2
2t — 22

(1-1)?
2(1-1)
t2

1 0 O
-2 2 0
1 -2 1

mat_besier3
1 00
2 20
1 .21

3 plot_besier® ©® 1,1.5 3.5,: 4 2

pd ’eps c:/temp/besier_t3.eps’

3.4 40 (50000)000000

1. 00000000ooo

1-1)* — 1-4t+6t2-43+1t
4(1-1)° —  4t-12t2+ 1213 -t4
6t2(1-1)? — 6t% — 12t3 + 6t*
431-1) - 463 — 4t

t4
2. BensenFormuradO OO0 tO00O0D0OO0OOO
b5_0=: ("&4@-.);(4&* * "&3@-.);(*&6Q"&2 * "&2@-.);(*&40@"&3 * -. ); &4
(1-t)"4 4t(1-t)"3 6t"2(1-t)"2 4t73(1-1) t74
3.400000000000

mat_besier5



1 00
_4 00
6 12 6 00
4 12 _12 40
1 4 o6_41

4. 2000000

(b5 LO,4 0),. (|: mat_besier5 +/ . * LO, 4 0)&p. "1 0 steps 0 1 10
0 1 0 1 NB. PO
0.4 1.3401 0.4 1.3401
0.8 1.5616 0.8 1.5616
1.2 1.6681 1.2 1.6681
1.6 1.6656 1.6 1.6656
2 1.5625 2 1.5625
2.4 1.3696 2.4 1.3696
2.8 1.1001 2.8 1.1001
3.2 0.7696 3.2 0.7696
3.6 0.3961 3.6 0.3961
4 0 4 0 NB. P3

35|

5 plot_besier® ©® 1, 13, 1.5 4.5,35 ,: 4:
pd ’eps c:/temp/besier_t5.eps’ !
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00000 3000 3000000000000 00000000000DU0O0OO 300000000
goooOoOoOoOoOOOOO0OOOOCOOUOOOOOOOUOOO 300ODDOODOOODOODOODODOODOOOO
O0o00000O00O00D0D0O0OO0ODOOD0ODOODODOODODODOODOOODODOOODOODOOODOO 30000000
go0oOoOoOoOoOoOoo 30ppooooOoooooooo
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(a+b+c=a%+b?+c?

11

1 +2ab + 2ac + 2bc
2 2
2
(@a+b+cP=at+b3+c
1 +3a2b + 3a%c + 3ah?
3 3 +3b2c + 3ac? + 3bc?
+6abc
6 3
1 3 3 1
(a+b+o=a*+b*+c*
1 +4a3b + 4a3c + 4ab®
4 4 +4b3c + 4acd + 4bc?
+6a2h? + 6a2c? + 6b2c?
6 12 6 , , ,
+12a°bc + 12abc + 12abc
12 12
1 4 6 4 1
(a+b+o*=a+b°+c®
1 +5a*b + 5a*c + 5ab*
+5b%*c + 5ac* + 5bc?
5 S +10a%b? + 10a3c? + 10b3c2
10 20 10 +10b3c? + 10a2c + 10b%c3
+20a3hc + 20ab3c + 20abc?
10 30 30 10 +30a2b?c + 30a2bc? + 30ab’c?
20 30 20
5 100 10 5
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1. 00000000000

1-5t+10t2 - 103 + 5t* - t°

1- t)5 -
5t(1-t)* — 5t - 20t% + 30t3 — 20t* + 5t°
102(1-1)°% —  10t> — 30t + 30t* — 10t°
1031 -1 — 10t3 — 20t* + 10t°
5t4(1-t) — 5t4 — 5t°

t5

2. 500000000000

mat_besier6

1 0 o0 ©
S5 5 0 ©
10 _20 108 O
_10 30 _30 10

(9 I T — R -~ I — I~
@ @ @ @ o

5 .20 30 _20
_1 5 _10 10 _
3. plot

6 plot_besier® L1,4.5 3,:50
pd ’eps c:/temp/besier6t.eps’

1000004000 (a+b+c+d™0400000)0000000000

12
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